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T02-FM119 TIME EVOLUTION [Reference=CERN060726] summary (all channels)
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[T02-FM119 Test 0]

[CERN060726] 060727074759 _FM119_calu_pedestals_ci.csv [ 23.5C]

[CERN060905] 060905195538 _FM119_calu_pedestals_ci.csv [ 24.7C]

[GSI061117] 061117093432_FM119_calu_pedestals_ci.csv [ 23.8C]




T02-FM119 TIME EVOLUTION [Reference=CERN060726] for Pedestal Position [Gain index 5, LEX8]
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] for Pedestal Position [Gain index 5, LEX1]
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] for Pedestal Position [Gain index 5,
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] for Pedestal Position [Gain index 5, HEX1]
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T02-FM119 TIME EVOLUTION [Reference=CERNO060726] statistics for Pedestal Position [Gain index 5]
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CERNO060726] for Pedestal FWHM [Gain index 5, LEX8]

T02-FM119 TIME EVOLUTION [Reference

ROW 2
—ROW3

—ROW 0
—ROW 1

r © r © o r <@ rQ ' r © rQ r Q <@ )
] 7] ] ] N ] 7] ] 7] 7] N N7
8 .8 8 18 3 2 12 8 18 g, R 5
-1 S S - s e S S -1 : [ S =3 e S
D [ [] (] [] lo® ." Q (] [] 4 [] [] lo® o
£ £ £ £ o £ £ E £ e E o
i = = = -~ = = = = = -~
A A 3 A < A A 3 A < <
N 5 | &
| = p = -
[ % i ) g 1 g
g =) g = g
— [N ) < S |©0 © ~ © o - S |- S
a - - , - S | - - - — a ﬁ < || |\ <
o) o) 0 o) s |9 o) 0 Q O| ! o) s |© o
o 3 o3 ol ¢ o 3 g9 ¢ o § o o3 Ol ¢ o 3 g (9 ¢ <
1 1 1 . 1 1 1 1 1 . 1 .
- R > B > R > > > > > B > B - S [> 3
O IO T O 0T ONT OTM FI9' 10 TONT OTNM D' 10N TOTN OFD | 100 ANTOT NOTID | 100 TOTT QPTY | 10 (oo Ty o O™ OTAM FOT 10 TONT OTNR FIO' 10N TOTN OTIO | 10 NTOTT IO |
syun Dav siun oav SHun oav Syun oav Syun dDav siun oav syun oav Syun Dav SHun Dav SHun Dav syun oav
r Q E 'O E D r D ' Q rQ rQ <t <@
7] 7] 7] 7] 7] 7] 7] 7] ] NGO
\ @ N @ \ @ @ N @ \ @ N @ N @ N N
< < < i< < < i< < e e
o -1 4 P S o S o S S A=t A=
) © ) © ﬁ 2 © ) O 1) ) © X ] ) O cow cow
= = £ E £ E = £ E oE
= = = = = = = = o 3
@ @
2 g
2 g |- g
- S N
S = (3 3
: : Q¢ B9 ¢ B
. 1 . . i ; ; i [ > RAES g
O XNTO TIT 10 1o AT OO 19T 10 FeoNT O NN O’ okea TOTN QT | 1o Ty e ] " ot emaTo T O ONT OTTAIN O’ 10 FeNT OTNO D' 1ogean TN Q.X...:...O. [T ain J_..mn.lvn.v
SHun oav syun Dav syun oav SHun oav Shun oav Syun dDav syun oav syun oav Syun oav SHun Dav SHun Dav syun oav
r © r © L Q [ <+ (] t @ r © tQ t Q N Y
7] 7] 7] ] N 7] 7] ] 7] 7] N N7
\ @ \ @ \ @ < g ] \ @ y @ \ @ \ @ g ]
< p < = < ﬁ N 9 < < 9 < < NS NG
o 4 =1 S o s A ] S S . o ¢ S S A= A=
© ® [ ® © 4 0@ )| ') Jﬂ ® © ® ® o0 o®
€ £ € E GE £ £ £ £ € BE GE
i = = - -~ = = = = - -~
. . 3 < 3 . ] 2 < N
N ] N
p 9 * — p v~ —
) ¢ o 4 1 = -
e ,,, =) B [+~ 3
o -~ N [} < S (2] © \ N~ 0 (o2} =t S [~ S
- g ﬁ - f - - 5 |2 - é - i i O s |2 5
o) ol o) o) o) B o o) o) o| . o) o) 8 O 8
9 ¢ o 3 9 3 9 & 9 ¢ ERI9 ¢ 9 ¢ 9 ¢ 9 ¢ < & o ¢ RIS ¢ K
+ + + + + |+ + + + + + G B
> L = R L Ll > B L = > Ll Ll N > i Ll I L = 3 > S
O NTOT QT ' s ™o oKD O ONT OO F19' 10 TONT OTNR D' 1N TOTN PTD ' 1wm ATOT QOPTD ' 1uwn aToT QT | e oaTo TART D' 1 T o TN 19" 0 soa™T oM 19’ e ToTNOTe | s o’ qioshe
SHun oav Syun Dav syun oav SHun oav Shun oav Syun dDav syun oav syun oav Syun oav SHun Dav SHuUNn Jav syun oav
24 L @ L : Q t Q t Q tQ t @ < <@
[7] [7] [7] [7] [7] [7] [7] [7] 25 23
] } @ i @ } @ ' @ } @ ol ¥ @@ Hd il
< < < i< c < i< < R e
o =1 S o 3 S o - S - A=t A=
) O ) © ) © ) © ) © ) O ) © ) © ow 0w
£ £ £ £ £ E £ £ oE oE
= = = i = = = = o+ =
@ . @
< - g [~ 5]
o) (@] S (O =
: iR : e I
+ + N |+ oy
x x g < g
ot NTOT GIOT ' 1o "o TAT 19" 1o XNT O 18 16 Feo™ OTNIN 10" oy TOTN OTIO ' 1ogrer T NeRTo OT ONTO THOT D' 1o T OTNIN F1IO' 1 FNT OTNR TIO' 1o TOTNOTO ' oo NTOTT GO '

suun oav siun oav sHun 9Qv suun oav suun oav sHun oav sHun 9Qv suun oav sHun oav sHun oav sHun oQav suun oav




CERNO060726] for Pedestal FWHM [Gain index 5, LEX1]

T02-FM119 TIME EVOLUTION [Reference
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CERNO060726] for Pedestal FWHM [Gain index 5, HEX8]
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CERNO060726] for Pedestal FWHM [Gain index 5, HEX1]

T02-FM119 TIME EVOLUTION [Reference
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] statistics for Pedestal FWHM [Gain index 5]
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[CERN060726] 060727080553_FM119_calf_mu_trend.csv [ 24.7C]

[CERN060905] 060905201353_FM119_calf_mu_trend.csv [ 25.0C]

[GSI061117] 061117095217_FM119_calf_mu_trend.csv [ 24.7C]
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] statistics for LE+/LE- [Gain index 5]
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] statistics for LE+/HE+ [Gain index 5]
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] statistics for LE-/HE- [Gain index 5]
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T02-FM119 TIME EVOLUTION [Reference=CERNO060726] statistics for TACK Delay [Gain index 5]

DAC

DAC

DAC

DAC

3 : : : : : : : o EX8 50? —LEX8
X+ : : : : : : : oLEX1 - —LEX1
: : : : : . . HEX8 - HEX8
S 4. P HEX
1_— """ M P Pttt A H A E
SRS SR S S S S S S A
0 ' ' ' ' ' ; ' ' ' B
E i i i i i i : P20
i | el L, PO .. Lo R S B
2 b b 10—
_3:||||||||| 0’ Ll | Ll | - .
5 10 15 20 25 30 35 40 45 0.5 . 3
3 Channel 50 0.5(MAX-MIN) and RMS
‘ ‘ ‘ ‘ ‘ ‘ ‘ LEX8 O —LEX8
Y+ g LEXS
- : : : : : : : HEX8 - HEX8
S N =Sy HEXT
1; """ T Tt T oo ot E
A S
0 ‘ ‘ ‘ ‘ ‘ . ‘ ‘ ‘ C
E . . . . . . . . . 20;
A= B L P e e L
2f e
-3 :\ Ll i Ll i Ll i Ll i | i | i I | i | i Ll i L1 07\ L L L L L ‘ L L L L ‘ L L L L ‘ L L L L ‘ L L L L ‘ L L L L
0 5 10 15 20 25 30 35 40 45 0 . . . 3
3 Channel 5 0.5(MAX-MIN) and RMS
X- e =1 R =4
! ! ! ! ! ! . HEX8 = HEX8
2 gHEXT | -HEX1
L S S s S E
- 30 |—
0w -
S
A L L L S SRR S S C
Y RIS SRR RN SRR SRR RN SO R S S L]
_3 :\ Ll ‘ Ll i Ll i Ll i I | i | i I i | i Ll i L1 07\ L L L L L ‘ L L L L ‘ L L L L ‘ L L L L ‘ L L L L ‘ L L L L
10 15 20 25 30 35 40 45
3 Channel 50 — 0.5(MAX-MIN) and RMS
Y- L g e
‘ B A | _|*HEX8l HEX8
2 aHEX ] g -HEXT
30—
20—
10—
-3 :\ Lol i T ) i . i Lo i I i I -l i Ll i I i Lo i Lol 07\ L L L L L ‘ L L L L ‘ L L L L ‘ L L L L ‘ L L L L ‘ L L L L
0 5 10 15 20 25 30 35 40 45 0 3

Channel ' ' 0.5(MAX-MIN) and RMS




[T02-FM119 Test 2]

[CERN060726] 060727080719_FM119_calf_shp_pO01.csv [ 24.8C]
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[T02-FM119 Test 2]

[CERN060905] 060905201456_FM119_calf_shp_p01.csv [ 25.0C]
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[T02-FM119 Test 2]

[GSI061117] 061117095314 _FM119_calf_shp_p01.csv [ 24.7C]
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[T02-FM119 Test 3]

[CERN060726] 060727075308_FM119_calf_gain_p01.csv [ 24.5C]

[CERN060905] 060905200052_FM119_calf_gain_p01.csv [ 24.9C]

[GSI061117] 061117093942_FM119_calf_gain_p01.csv [ 24.6C]
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ROw 2 T02-FM119 TIME EVOLUTION [Reference=CERN060726] for LOWEST Relative Gain [Gain index 5, HEX8]
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] statistics for LOWEST Relative Gain [Gain index 5]
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o T02-FM119 TIME EVOLUTION [Reference=CERN060726] for HIGHEST Relative Gain [Gain index 5, LEX8]
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o T02-FM119 TIME EVOLUTION [Reference=CERN060726] for HIGHEST Relative Gain [Gain index 5, LEX1]

ROW 3
1.5 1.5
&® 1E|=Y+COL0 &® 1E|=Y-COL0
05F 05E
0F eece— oe<e—oe=o 0FE eese— oece— oo
-05F -0.5F

-1E

" Time phase

15
® 4fX+ COL 4
05

0 *0 o———os—0——0o—0
-0.5

-1 AE -1 Ak

-1.5 456 | .5 )
-002-00202608 1 12147182 222 04020003088 11241 FL82 2222 00200200608 1 1214182 224 0.40.2-0 0.20.40.08 11.21.41 5.8 2 2.224

15 imephase ime'pfiase ime'phase ime phiase

"Time phase

15
1

fX+ COL 8

.1_5_
& X+ COL 9
0.5
0F e 06— oc—0 oo
-0.5

15 Time phase 15 Time phase
® "4EX+ COL 10 ® "4EX- COL 10
0.5 0.5
0 oo 0 e o——— oo — oo
-0.5 -0.5 -0.5 -0.5
-1 -1 -1 -1
-1.5 -1.5 -1.5 -1.5
-0.40.2-00.20.20.60.8 1 1.21.41'.61.82 I%.'22.4 -0.40.2-0 0.20.40.60.8 1 1.21.41.61.8 2 ?1.22.4 -0.40.2-00.20.40.60.8 1 1.21.4‘*.61.82 ﬁ'22'4 -0.40.2-0 0.20.40.608 1 1.21.4Jr61.8 2 ﬁ22.4
15 Ime phase 15 Ime phase 15 Ime phase 15 Ime phiase
® 4fX+ COL 11 ®74EY+ COL 11 ® 4fX- COL 11 *4fY- COL 11
0.5 0.5 0.5 0.5
0 [ 0 (= 0 e o———— oo oo 0 [
-0.5] -0.5 0.5 -0.5
-1 -1 -1 -1
'1'504)2 00.20.20.608 1 1.21 182 222 -1'50402002)40@811214 2 2224 '1'50402 00.20.20.60.8 1 1.21 182 222 '1'50402002:)40&]811214 222024
DTN IAREIFLART | ORIIOTIDT AL ST DNE IAGEIRERT ORI 0N AR




ROw 2 T02-FM119 TIME EVOLUTION [Reference=CERN060726] for HIGHEST Relative Gain [Gain index 5, HEXS8]
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o T02-FM119 TIME EVOLUTION [Reference=CERN060726] for HIGHEST Relative Gain [Gain index 5, HEX1]
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T02-FM119 TIME EVOLUTION [Reference=CERN060726] statistics for HHGHEST Relative Gain [Gain index 5]
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[T02-FM119 Test 3]

[CERN060726] 060727075308_FM119_calf_gain_p01.csv [ 24.5C]
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T02-FM119 CERN060726 HIGHEST Relative Gain [Gain index 5]
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[T02-FM119 Test 3]

[CERN060905] 060905200052 _FM119_calf _gain_p01.csv [ 24.9C]




T02-FM119 CERN060905 LOWEST Relative Gain [Gain index 5]
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T02-FM119 CERN060905 HIGHEST Relative Gain [Gain index 5]
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[T02-FM119 Test 3]

[GSI061117] 061117093942 FM119_calf _gain_p01.csv [ 24.6C]




T02-FM119 GSI061117 LOWEST Relative Gain [Gain index 5]
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T02-FM119 GSI061117 HIGHEST Relative Gain [Gain index 5]
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